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4. EXAMPLE: Consider an electric dipole made up of two charges with equal

magnitudes q but opposite signs. Let +q be at (O,o) while let-q be at (0,-").
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E = E* + E- = E*cos2 i  -  E*sin? i  -  E-cos?i -  p-sin? j

Equation 2: E =i(n. - E-)cosd - i(n. + E-)sind

Equation 3: E* = k,q I D' = E-

From Equation 3, Equation 2 becomes 
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For very large r (r >> a),
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= l- i)k,{ where p : electric dipole moment = (Zafo
v')

:(distance between the charges)x (charge)

U. Electric field due to a continuous distrtUuliq!!
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